©2019 by John Wiley & Sons. No part of this Instructor’s Manual may be reproduced or distributed in any form or by any means

without the written consent of the publisher. The publisher hereby limits distribution to instructors who have adopted the
corresponding Meriam/Kraige/Bolton textbook. This material is written for instructors and is not intended for students.

111 For a 180-\k Person

W= mg : 180 & = m (32.2 F‘t}secz)

m = 5.59 slugs
120 Ik ( 4'4i8'4 N) = 30! N
W= wmq : %ol N =

m (9.9 m}31>
m= RI.G6 kj



